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(1) 2z =2 —102%* + 5y’ (2) z2=(1—ay)?
(3) z:xin (4) 2= /(x—a) +(y—b)
(5) z=tan! J (6) z=logsin(x + /)

T

2.000000000d:0000.
(1) 2= f(z,y) =2° + 3y + y° (2) 2= f(z,y) = xcosy

(3) 2= f(z,y) = log(z* + 2y*)

3.0000000000000000000000000000O00.

(1) 22+3y2—2=0 (1,1,2) (2) 2*+y*+22=1 (a,b,c)

d
4.0000000 d{jmmmm.

(1) z= f(3t,t?) (2) z= f(acost,bsint)

S5.0000000000.
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(1) ¢,b00000000000b2 =2 0000 2,y0000
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ax+byO000000000O

(00000000 az+by=u, z=00000)
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2) xa—zzya—ZDDDDDDDD xy000000000
v v

(00000000 zy=u, x=0v0000)



dy
0.00000000000000000 y:f(x)DDDDD,CTDDDD.
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(1) 2 +y®—3azy =0 (2) z* +y* = ax?y?

7.000000000000.

1 f(z,y) = 22* — 6zy + 5y* — 2y

z

(1)

(2) z= f(x,y) =22* + 2y + 3y*> — 9x — 8y + 2
(3) 2= f(z,y) = 2 + 122y — 8*

(4) 2= f(z,y) = 2° + 2y? = 3(2* — ¢*)

8.00000000000000000 y=f(x) 00000, 000000000.
(1) Flz,y)=2*+y*—2x=0 (2) F(x,y) =222y +2y>*—4=0

(3) F(x,y)=12*—3zy*+16 =0 (4) F(z,y)=2°—3zy+y>=0

9.000000000000000000000.(000,e¢00000000)
(1) 00 224+¢y*—-a*>=0000000 flo,y) =2y 000

(2) 00 2y=a000000 f(z,y)=2*+y>000

(3) 00 2®°4+ay+¢*=12000000 f(o,y)=x+y 000

(4)

4) 00 224+¢*=5000000 f(z,y)=4x+2y 000



